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1.
Factors Influencing Dividend Policy
1.1
Factors influencing dividend policy
· The need to remain profit to maintain its operating capability unchanged

· Dividend restraints imposed by loan agreements
· Effect of inflation

· The level of financial risk – higher financial risk, lower dividend payments which can result in a high level of retained earnings. It will reduce gearing by increasing the level of reserves.
· Maintain liquidity position – dividends are a cash payment, if a company has not enough cash, dividends cannot be paid

· The need to repay debt in the near future

· The ease of raising extra finance – small company may find it hard to raise external finance, so it rely more heavily on retained earnings.

· The signaling effect of dividends to shareholders and the financial markets in general.

	Question 1 – Factors in formulating dividend policy
Discuss the factors to be considered in formulating the dividend policy of a stock-exchange listed company.
(10 marks)


2.
Theories of dividend policy
2.1
Residual theory:

· Only when the investment opportunities are exhausted should dividends be paid.

2.2
Irrelevancy theory (by M&M):
· Miller and Modigliani showed that, in a perfect capital market, the value of a company depended on its investment decision alone, and not on its dividend or financing decisions.
· In such a market, a change in dividend policy would not affect its share price or its market capitalisation. They showed that the value of a company was maximised if it invested in all projects with a positive net present value (its optimal investment schedule).
· The company could pay any level of dividend and if it had insufficient finance, make up the shortfall by issuing new equity. Since investors had perfect information, they were indifferent between dividends and capital gains.
· Shareholders who were unhappy with the level of dividend declared by a company could gain a ‘home-made dividend’ by selling some of their shares. This was possible since there are no transaction costs in a perfect capital market.
2.3
Bird-in-the-hand:
· Investors prefer certain dividends now rather than uncertain capital gains in the future.
2.4
Signaling effect:
· Increase in dividends would signal greater confidence in the future by managers and would lead investors to increase their estimate of future earnings and cause a rise in the share price.

· It implies that dividend policy is relevant. Companies should attempt to adopt a stable (or rising) dividend payout to maintain investors’ confidence.

2.5
Clientele effect:
· Shareholders are attracted to particular companies as a result of being satisfied by their dividend policies.
· The existence of this dividend clientele implies that the share price may change if there is a change in the dividend policy of the company, as shareholders sell their shares in order to reinvest in another company with a more satisfactory dividend policy.
· In a perfect capital market, the existence of dividend clienteles is irrelevant, since substituting one company for another will not incur any transaction costs.
2.6
Information asymmetry:
· Real-world capital markets are not perfect, perfect information is therefore not available, it is possible for information asymmetry to exist between shareholders and the managers of a company.
· Dividend announcements may give new information to shareholders and as a result, in a semi-strong form efficient market, share prices may change.
	Question 2 – Dividend policy, theoretical ex-rights price, financial risk and operating lease
The following financial information relates to Echo Co:
Income statement information for the last year

$m

Profit before interest and tax

12

Interest

3

Profit before tax

9

Income tax expense

3

Profit for the period

6

Dividends

2

Retained profit for the year

4

Statement of financial position information as at the end of the last year

$m
$m
Ordinary shares, par value 50c
5
Retained earnings
15
Total equity

20
8% loan notes, redeemable in three years’ time

30

50

Average data on companies similar to Echo Co:

Interest coverage ratio
8 times

Long-term debt/equity (book value basis)
80%
The board of Echo Co is considering several proposals that have been made by its finance director. Each proposal is independent of any other proposal.
Proposal A

The current dividend per share should be increased by 20% in order to make the company more attractive to equity investors.
Proposal B

A bond issue should be made in order to raise $15 million of new debt capital. Although there are no investment opportunities currently available, the cash raised would be invested on a short-term basis until a suitable investment opportunity arose. The loan notes would pay interest at a rate of 10% per year and be redeemable in eight years’ time at par.
Proposal C

A 1 for 4 rights issue should be made at a 20% discount to the current share price of $2·30 per share in order to reduce gearing and the financial risk of the company.
Required:

(a)
Analyse and discuss Proposal A.
(5 marks)

(b)
Evaluate and discuss Proposal B.
(7 marks)
(c)
Calculate the theoretical ex rights price per share and the amount of finance that would be raised under Proposal C. Evaluate and discuss the proposal to use these funds to reduce gearing and financial risk.
(7 marks)
(d)
Discuss the attractions of operating leasing as a source of finance.
(6 marks)


(Total 25 marks)


	Question 3 – Dividend policy in share price
Discuss whether a change in dividend policy will affect the share price of DD Co.
(7 marks) 


3.
Alternative to Cash Dividends

3.1
Scrip dividend (or bonus issue or capitalization issue)
3.1.1
Is a dividend paid by the issue of additional company shares, rather than by cash.
3.1.2
Scrip dividend will be made when a company prefers to retain funds within the business but consider that they must maintain a certain amount of dividend.

3.1.3
Advantages of scrip dividends:

· Preserve cash position

· Investors can obtain tax advantages if dividends are in the terms of shares

· Decrease the company’s gearing and so enhance its borrowing capacity
3.1.4
Disadvantage of scrip dividends:
· It affects in future years, because the number of shares in issue has increased, the total cash dividend will increase, assuming the dividend per share is maintained or increased.
	Question 4 – Scrip dividend
Explain the nature of a scrip (share) dividend and discuss the advantages and disadvantages to a company of using scrip dividends to reward shareholders.
(6 marks)


3.2
Stock split

3.2.1
A stock split occurs where, for example, each ordinary share of $1 each is spilt into two shares of 50c each.

3.2.2
It can create cheaper shares with greater marketability.

3.2.3
In general, the market price of share may benefit after stock spilt because investors may have the anticipation of strong future growth in earnings and dividends.

3.2.4
The difference between a stock spilt and a scrip issue is that a scrip issue coverts equity reserves into share capital, whereas a stock spilt leaves reserves unaffected.

3.3
Share repurchase

3.3.1
For a smaller company with few shareholders, the reason for buying back the company’s own shares may be that there is no immediate willing purchaser at a time when a shareholder wishes to sell shares.

3.3.2
For a public company, share repurchase could provide a way of withdrawing from the share market and going private.
3.3.3
Benefits and drawbacks:

	Advantages
	Disadvantages

	· Use of surplus cash, which may be a dead asset.

· Increase EPS

· Increase in gearing

· Readjust the company’s equity base to more appropriate level

· Prevent a takeover

· Enable a quoted company to go private
	· Hard to arrive at a price
· Admit that the company cannot make better use of funds
· Shareholders may suffer from being taxed on a capital gain


Additional Examination Style Questions
Question 5
AB and YZ both operate department stores in Hong Kong. They operate in similar markets and are generally considered to be direct competitors. Both companies have had similar earnings records over the past ten years and have similar capital structures. The earnings and dividend record of the two companies over the past six years is as follows:

	
	AB
	YZ

	Year to 31 March
	EPS

cents
	DPS

cents
	Average share price
	EPS

cents
	DPS

cents
	Average share price

	2006
	230
	60
	2,100
	240
	96
	2,200

	2007
	150
	60
	1,500
	160
	64
	1,700

	2008
	100
	60
	1,000
	90
	36
	1,400

	2009
	– 125
	60
	800
	– 100
	0
	908

	2010
	100
	60
	1,000
	90
	36
	1,250

	2011
	150
	60
	1,400
	145
	58
	1,700


Note: EPS = Earnings per share and DPS = Dividends per share

AB has had 25 million shares in issue for the past six years. YZ currently has 25 million shares in issue. At the beginning of 2010 had a 1 for 4 rights issue. The EPS and DPS have been adjusted in the above table.

The Chairman of AB is concerned that the share price of YZ is higher than his company, despite the fact that AB has recently earned more per share than YZ and frequently during the past six years has paid a higher dividend.

Required:

(a)
Discuss:

(i)
the apparent dividend policy followed by each company over the past six years and comment on the possible relationship of these policies to the companies market values and current share prices; and

(ii)
Whether there is an optimal dividend policy for AB that might increase shareholder value.



(12 marks)

(b)
Forecast earnings for AB for the year to 31 March 2012 are $40 million. At present, it has excess cash of $2.5 million and is considering a share repurchase in addition to maintaining last year’s dividend. The Chairman thinks this will have a number of benefits for the company, including a positive effect on the share price.

Advise the Chairman of AB of

(i)
how a share repurchase may be arranged;

(ii)
the main reasons for a share repurchase;

(iii)
the potential problems of such an action, compared with a one-off extra dividend payment, and any possible effect on the share price of AB.



(13 marks)
Note: A report format is not required for this question.


(Total 25 marks)
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